Glas Vil
Mathatics
Understanding Quilaterals
WorksheeABHC)  Max. marks - 60

Section — A (1x10=10)

Choose the correct option :
1. A simple closed curve made up of only line segsés called a ............ :

(a) Circle  (b) Polygon (c) Line segmer(td) None of them
2. The sum of the measures of the exterior andlaaypolygon is -

(a) 180 (b) 360 (c) 270 (d) 540
3. Find x in the given figure, if it is a regulagntagon.

(a) 110 (b) 108 (c) 108 (d) 100 @
4. One angle of a quadrilateral is 1&80d other three angles are equal. What is

the measure of each of these equal angles ?

@75 ()8S (c)938 (d)70



5. Two adjacent sides AB and BC of a parallelogf®CD are in the ratio
5: 3. If the perimeter is 200 cm, what is the tngf AB and BC ?

@25cm&50cm (b)40cm & 37.5cm (c)%B2m & 37.5cm
(d) 60 cm & 62.5 cm
Fill the blanks for the following statements :
6. A parallelogram having all sides equal is chle................ :
7. A quadrilateral having exactly one pair of pkaladides is called a .......... :

8. If the consecutive sides of a parallelogrameangal, then it is necessarily a

9. Sum of interior angles of a polygon of 10 siges............. :

10. The number of sides of a regular polygon wlezss exterior angle is 6&

SectioB— (1x5=05)

11. Five angles of a hexagon are 1%%°, 8(°, 135 & 125°. Find the sixth
angle.

12. How many diagonals are there in a hexagon ?
13. Find the measure of each interior angle ofyalee pentagon.

14. One angle of a parallelogran®si®’. Find its opposite angle and the
adjacent angle.

15. ABCD is a trapezium with AB || DC. #4 = 50°, then find £D.



Section—C (2x5=1)0
16. An exterior angland the interior angle of a regular polygon artharatio
2 . 7. Find the number afdes otthe polygon.
17. Inparallelogram ABCD. Find x and

A 26cm B

3x 18cm

B 3y -1 ¢

18. Find the number of sides of a reg polygon whose each exterior an
measures 60

19. Four angles of a quadrilateral are in thio 3: 4 : 5 : 6. Find its angl¢

20.ABCD is a rhombus witlzDAB = 56°.Determine2DBC.

Section — D (3x5=1)

21 In the given figure, ABCD is a rectangle andditggonals meet at O. Find
if OA = (2x + 4) and OD #£3x + 1). Also find BD.




22.Prove that the diagonals a rhombus bisect each other.

23. Two adjacent angles of a parallelogram are- 4)° & (3x + 10°. Find the
angles of the parallelogram.

24. Three angles of a quadrilateral are in the rti® : 3. If the fourth angle
100, find the three angles the quadrilateral.

25. Oneside of a parallelogram is8 cm and the other sideis; times of this
side. Find the perimeter of the parallelogt

Section — E (4 x5 = 20)

26. The sum ofwo angles of a quadrilateral is 2°. The other two angles are
the ratio 2 : 3. Find the angl

27. The measure of the diagc of a rectangle is 5 cm. If one of g&les is ¢
cm, then find its perimeter.

28. In the given figure, ABCD is a parallgram. Find the value of x, vy, z,




29. The diagonals of a rhombus are 6 cm and respectivelyFind the lengtl
of the sides of the rhombus. Also fiits perimeter.

30. Find x + y + z + w in the given figu

D Z c
wM 60"\
. ~ 120 80 1Y
JX
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Glas VI
Mathatics
Understanding Quiaterals
Worksheet (STANDBR Max. marks — 40
Section — A
Q . 1. Choose the correct option : (1 x10=10)
(i) If three angles of a quadrilateral are eacheétu75, thefourth angle is :-
(@150 (b) 138 (c)43 (d)75

(i) What is the maximum number of obtuse angled ¢hquadrilateral can have
?

@1 ®2 (@©3 (@4

(i) ABCD is a rhombus such thatACB = 40°. ThenzADB is
(a)40° (b)45° (c)50° (d)60°

(iv) If PQRS is a parallelogram, therP — 2R is
(@)90° (b)45° (c)60° (d)o°



(v) ABCD is a square, diagonal AC is joined. Thiea neasurement afACB
IS

(@35°  (b)40°  (c)45°  (d)50°

Q . 2. Complete the following statements with appiaie word(s) in the blank
space.

(i) A diagonal of a parallelogram divides it inted .................. triangles.

(i) The bisectors of any two adjacent angles paeallelogram intersect at

(i) An angle of a rhombus ¥0° more than its adjacent angle. Then this angle
IS e :

(iv) The number of sides of a regular polygon, veheach exterior angle has a
measure 0B6° iS .........ccceeeeeeee :

(v) A rectangle whose adjacent sides are equalesa ............... :

Section — B (1x3=3)
Q . 3. Find the sum of all interior angles of atiagpn.
Q . 4. In a quadrilateral PQR&P = 50° 2Q = 60°, 2R = 60°. Find 4S.

Q . 5. In a parallelogram PQRS 4P = (3x — 5)° and£Q = (2x + 15)°, then
find the value ofk.



Section — C (2x 3 =06)

Q . 6. If one angle of a parallelogran24° less than twice the smallest an
then, find the largest angle of the parallelog

Q . 7. In the figure, ABCD is a rhomb Findx & y.

Q . 8. In the figure, ABCD is a square£DPC = 80°, then findx.

D C

80"

Section—D (3x3=09)

Q. 9. In the adjoiningigure, ABCD is a trapezium in whiczA = x + 25°,
4B =y,2C =95°& «£D = 2x + 5°, then find thevalues of x & y.

¢ D




Q . 10.In the given figure, PQRSTU is a regu .
hexagon. IZPQT = 60°, then find2PTQ.

D C
11. In the adjoining figure, ABCD is a rectanglel: 0
diagonals intersect at O.4A0B = 118°, find NS
(i) £ABO (ii) £ADO (iii) £OCB A °
Section— E (4x3=12)

12. The perimeter of a parallelogram is 80 m. & ldbnger side is 10 m greater
than the shorter side, then find the length of esadé

Y

D

13. Inthe figure AX & CY are respectively the bisectofs
the opposite angles A & C of a parallelogram AB&Dhow
that AX || CY.

14. One of the diagonals of a rhombus is congrteeahe of its sides. Find tl
angles of the rhombus.
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Class — VIlI
Mathematics
Understanding Quadrilater,

Worksheet (Advance or HOTYS)

1. In a quadrilateral, CO & DO are the internakbi®is of 2C & 2D
respectively. Prove thatA + 2B = 24C0D.

2. The interior angle of a regular polygon is fames its exterior angle. Ho
many sides does the polygon ha

3. From the adjoining parallelogram, find the vatdix, y & z.

4. In the figure ABCD is a parallelogram. If X & afe
the points on the diagonal BD such that DX = B\Ygva&
that AXCY is a parallelograr




5. In the adjoining trapezium ABCIzC = 102°. Find all the remaininangles
of the trapezium. b c

102

A4

A
6. In the figure, ABCD is a square and CDE is amlatgeral triangle.
Find (i)£AED (ii) 2EAB (iii) reflex £AEC. D c

7. ABCD is a trapezium in which AB || CD & AD = BShow that

() 2A =2B (i) 2C = «D  (iii)) AABC = ABAD
(iv) Diagonal AC = diagonal B

8. In a parallelogram ABCD, the diagonals AC & BD irgect each other at ¢
Through O, a line is drawn to intersect AD at X & atY. Show that
OX = 0Y.



9. ABCD is a rhombus and its two diagonals interse®©, show that A +
BC? + CD? + DA? = 4(AC” + DOY).

10. The angle bisectors aM, 2N, 20 & £P
of a trapezium MNOP intersect at points
and X respectively. If

£LMPX = 50°& 2NOX = 70°, find the
measure of the angles a, b, ¢ & d.
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